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* A T ( HP ¢  250mm ) #£H £
[##8h]
T AT ) - 8 HE K
fl il Al H HAL B R
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H = 1500 N = i
H = 1800 N = 1 1A 1
EER7 vy 18 H = 130 N = 1] & 1
(17%)
HIFL T wpg2som N = N = | SR 1
vue2s0/ N = N = AT
VU200 N = N = 1 & 1
A N—FT| 18 N= N = =N 1
FRPELPEI 25~ 1 5 N = N = 1
L HOMEXF HP¢250| N = N = 1 1A 1
VU$250 N = N = 1 & 1
VU$200 N = N = 1 & 1

M= ) — b 18N-8-40 V = t/4 X 2.000 "2X  0.135 VvV = 0.42| m3 0.42




[M69 175HHN7 A L]
TH H e . ] w o
B ml o H f‘ RO R
~ A=V
v h—ABET 18 H= 2.943m N 1 & AT
SR S
NALERZE T-25 ¢ 600 (st - ERPERA IR 1-151) N 1) 2
A4 B H = 25mm  (0) N & AT
H = 45 mm N 1 &P
SHEEY H = 50 mm N |
H = 100 mm N 2! {H 2
H = 150 mm N 1A
RUEET 97 195 | $ 600 * ¢ 900 * 300H N &
600 * $900 * 450H N 1 1A
$ 600 * ¢ 900 * 600H N &
BEViGEE: 15 H= 1600 N 1
HEE ny)| 18 | H = 300 N 1=
(17%) H= 600 N 1 A
H = 900 N 1
H = 1200 N i
H = 1500 N 1
H = 1800 N i
R ny) 15 H = 900 N 1
(17%E) H = 1200 N 1
H = 1500 N i
H = 1800 N 1 1A
EER7 vy 18 H = 130 N 1] &
(17%)
BIFL T wpg2som N = N 1 &7
vue200 N = N AT
AR —RT 18  N= N =N
FRPELPEI 25~ 1 5 N = N 1
T E HOMEXF HP ¢ 250| N = 2 N 2| {H 2
VU200 N = N &




48981k M13 h=1.665m

T ff Al B 2 B
DS HET HP ¢ 300-200 I
1
RIER7Z—
FlL— T NEE VU ¢ 200 L= 1.665-0.074-0.196 m
1.395
R H90° 90ST ¢ 200 15
1
Bhag= ) —h 1T 18N-8-40 0.508X0.45X0.913 = 0.209 m”
/4% 0.20°X (0.913+0.196) = 0.035 0.17
- 0.209-0.035 = 0.174m’
T T 0.508 X 0.913 X2 m”
0.93
Rl R [ 1 ¢ 20 Hifbe =L {1 T

1.5m=h<2.0m




SNEHLEE T ¢ 2000



£ F &

iiiﬁ%ﬁl ¢ 2000
| H M70 B
i H| s 4l -
i il Tk A
JEASREIAE A A T 0.9h/m e m
0.9h/m W+ 4.66 4. 66 m 4.
1.2h/m HE+ m
1. 5h/m m
¢ 2000
br— v TVRET 6. 3m /& AT 1 D
A —y v 7Bl ET $ 2000 0.90 0. 90 m 0.
AT T T U2 & 0.05 0. 05 t 0.
JECAR T R 7 Y — MR 3.10 3.10 m3 3.
BN Ik G 1 1 [=]
Kb - AR T &
t=12mm
+ROMEE $ 2000 4. 00 4. 00 m 4.
TR Je s M 1 1 =
L=2. 00m
TR DR W% r—v > 7 1 1 =
SEHLHEK 9 HAKPEAK T 1 1| &pr
BEA LB AT A DRSS T 1. 20 1.20| m3 1.
1.16 t
P TR E R ¢ 2000 1 1 %
HRL T 4+ 10. 8 10.8 m3 10.
Ay T 2.5 2.5 m3 2.




T M Wl —y o 7T $ 2000
S 51No. M70 HHE #5 5
T fE 4 (A= o e = VI G O N~ SO > +
JE N I FE A 2 T ¢ 2000 L = 4.66 m $CH29 T /K38 B R HE HE AR P440 = 4.66 4,66 m
Rt N>5| 1m0 EEYESE THRFfa=0. 8h/m 1= 0.00 m
B N=30| Im¥ Y EAEfE TRFRHa=0. 9h/m 1= 4.66 m
BEE L N=30[ 1m v 4 TRFHa=1. Oh/m I= 0.00 m
g+ N>30| 1m24 0 EEYESE TR a=1. Oh/m 1= m
= TR ET ¢ 2000
t = 12mm L = 6.30 m  (1FHPTY4 V) XH29 T /KiE iR S HE A p441
n=1 F&r = 1 &7
= rElE BIF L $ 2000 L = 0.90 m = 0.9m
AT T r—3 v TR
W2 =7 /4% (0.36+0.2) "2X94. 2kg/m2 = 23 0. 023
W3 =7 /4% (0.36+0. 2) "2X94. 2kg/m2 = 23 0. 023
0.05 |t
o7 ) — MTRL ¢ 2000 V = 3.1 m3 3.1 m3
$CH29 T /KT8 FH R R HE R HP 444
FEMGER B E T n=1 [A = ]|
P ERE - FRERE T n=0 [A = 0 [=]
o =E Ok LT 11 - 1 n = 1 M| = ]|




T Ff ﬁlﬁ%/f—V‘/?“%@iﬁI $ 2000
T M 4 (A= 3 S A= VI S O N 7 SO I+ +
(£ # » ¥
HevEr— T $2,000 t =12 mm L =2.400 X IA& 2.40 (m) 2. 40
B — $2,000 t =12 mm L =0.000 X OA& 0.00 (m)
& r— $2,000 t =12 mm L =1.600 X 1A 1.60 (m) 1. 60
iRy — 7 62,000 t = 12 mm L =2000 X 1A 2.00 (m) 2.00
r— o IR $2,000 t =12 mm ( & B )
=240+ 0.00 + 1.60 = 4.00 (m) 4.00 m
S — o EH  $2000 n = 1 =X 1
Wk r— o 7k $2,000 t =12 mm L =2.000 (m) X 1(&%) (1 fEATHY) 1 =X
9 KK T ¢ 2000 1 &P
SN VAT $ 2000 V= 1.2 m3 (14 0) 1=
15 UE P $CH29 T /KB FH B% R HE A4 P448
B om BT ( & B ) é 2, 000 % T e (R
7 TR E T 1=
78 TARBARA T MBS U CEE R 0 [a]
B ITRRET Lt




T M Wl —y o 7T $ 2000
J_At_l_ = M2 =
S75iNo. M70 e ” "
T f 4 B 3 - = VI A O N 7 P - + —
HELT A+ PEE 1. om0 +& v - 3.14 m3

V=(371-0.25 X 3.14 = 10.85 m3 10. 85
+10. 85 -0. 00 +10. 8 m3

0. 00
+10. 85 -0. 00 +10. 8 m3
v5 v L V = 14.46 - 10.8 /0.9 = 2.46 m3 2. 46 2.5 m3




X B SR ST EE S 11665 X 1665



I B AR ST YT

¥ & F B O£ E *
M69
T i fili il BN || Gl N T = H
(1) +T
PEH T BHO. 28m3 m3 10.9 10.9
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P T A D 5 A= 2.16 X 2.21 = 4. 77 m2
P 1) JEE AT GL— 0.50 m EAEE = 0.05m
V= 4,77 X (0.50 — 0.05)= 2.15 m3
P H A
52 OB A= 1.665 X 1. 665 = 2.77 m2
P JEE I GL- 3.67m g = 0.50 m
V= 2.77 X (3.67 — 0.50 )= 8. 78 m3
2.15 + 8. 78 = 10. 93 m3 10. 9 m3
A+ T8 O R R 3.17 m
b T BHO. 28m3 V= 2.77 X 3. 17 = 8. 78 m3
A8 0 R R 0.25m
V= 4,77 X 0. 25 = 1.19 m3
[p] LR 0.35m
V= 2.77 X 0. 35 = 0.97 m3
[Pese]  HEERE 0.38 m
V= 0.10 X 0.38 X 2 = 0. 08 m3
[p] 1 NFLAMER 1.05m — W 0. 87 m2
V= 0.87 X 3. 42 = 2.98 m3
MR &
8.78 + 1.19 — 0.97
— 0.08 — 2.98 = 5. 94 5.9 m3
FEAE AV T V= 2.15 + 8.78
— 5.94 /0.9 = 4.33 m3 4.3 m3
(2) ~SEHUELAE T
18N-8-40
a7 ) —k t=15m V= 2.77 X 0.15 = 0. 42 m3 0. 42 m3
RC—40
P Bt t=20cm A= 2. 77 = 2. 77 m2 2. 77 m2
(3) +¥L
5 Bl 3 B Y
R
B B AR JEAT = 5.00 m
EANE
= 5.00 m
FeEN= (1. 665+1. 665) X 2-0. 333 = 20 20
R
2l T.1 = 5.00 m
GIE7 83
= 5.00 m
3 A
HCBIN= 20 — 6 = 14 & 14 &
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M69 it ST 5L

(2/3)
B & i OE ( S 6 )
T ff Fi i = it
R
¥ T.2 = 2.30 m IS D
GIE7 83
= 2.30 m
EFE
HCBIN= 3 X 2 + = 6 1% 6 &
t/m
N 62N 5.00 X 20 X 0.0216 = 2.160 t 2.20 t
t/m
() 5.00 X 14 X 0.0216
t/m
2.30 X 6 X 0.0216 = 1.810 t 1.81t
RS AR +200 t/m2
AT T 9T W= x /4 X 0.556 2 X0.0648
X 2 = 0.031 t 0.03 t
AT T t/m
(L=2. 3m) W= 2.30 X 6 X 0.0216 = 0.30 t 0.30 t
7
(L=2. Tm) W= 2.70 X 6 X 0.0216 = 0.35 t 0.35 t
=i W= 5.00 X 6 X 0.0216 = 0.648 t 0.65 t
0.65 t
MEkS L H-200 X 200 X 8 X 12 OITAH)
FHHRL SR T 28% W= (1.517 + 1.117) X 2
t/m 2
X 0.055 X 2 = 0.579 t 0.58 t
EEA W= = 0.579 t 0.58 t
EIERALA W= 0.579 X 0.22 = 0.127 t 0.13t
5448 W= 0.579 X 0.04 = 0.023 t 0.02 t
e W= 0.579 + 0.127 + 0.023 = 0.729 t 0.73 t
WG |LSP-3B e LR
ARG Wt = (0.333 X 3 X 9 = 2.00 m 2.0m




M69 it ST 5T

] (3/3)
¥ & i H ( ELE ¢53)
THE el B Y g
(4) BmE T
AR - 7B AT 7B T HE
ERE L T 14T 2.00 X 2. 00 = 4. 00 m2 4.0 m2
75 TR (BA12000 X 1000 X 200) {7 H & 0.22 t/m2
BT EE 4,00 X 0.22 = 0.880 t
2 HMT (H-200 X 200 X 8 X 12) BN A 0.055 t/m (A1)
4.00 (GGREMEE) X 0. 055 = 0.220 t
PR ([-200x 80X 7. 5 X 11 E{irE & 0. 0246 t/m
8.74 (GREMLE) X 0. 0246 = 0.215 t
0.880 + 0.220 + 0.215 = 1.315 t 1.32 t
t=10cm
R e T RC-40 2.00 X 0.20 X 2= 0. 80 m2 0.8 m2




MBI



S 8L Tk

“EHEX T HEAREREATEEEFR

a b aXb
EAR 1T AHY 1 HYD1TAYDY 1AYB Y R—V L7 E i T H %%
il Bl il i TR RS c i TAREE AN B % W E W o +
ZN v vl N 1 m m m H
1, 770 1. 950 8. 730
MI3 B B A 3 68.05| 204.15 11.1 590 0. 650 2.910 0.27
1, 797 0. 300 10. 200
M6OF N W 3 68.68  206. 04 11.0 599 0.100 3. 400 0. 27
1, 797 0. 300 10. 200
M69 E kB R 3 68.68| 206.04 11.0 599 0. 100 3. 400 0.27
1, 800 10. 590
M7OF W 3 69.04  207.12 11.0 600 3. 530 0. 27
1,674 0. 300 15. 210
ME9JEAR | IS & 3 78.09 234.27 9.7 558 0. 100 5.070 0.31
EAR MRS - fRA T (FEE) N=11% Ft
N A 1 m m m H
RN E (&F) 15 — 1057. 62 — 10, 515 3. 150 70. 140 1.39
- = (1AK%Y) — 70.51 — 701 0.210 4,680 —




X K # A T TEEA M L—F TR HLRR 7
(FAEREESHB Y IZE D, )
1. % # M3k BT ab/int ]
HIALE | AR | B#E g B &
v + H |FHINfE Lo L1 L2 & = mo A
(m/A) | (m/A) (m) (m) (m) (m2)
1.3 0. 65 0. 65
2.6 2.91 0. 85 1.50 2.00 3.00
3. 56 1.50 2. 06 HEART () 3
2. ® A 2 (HHELAD
SH]5es W ik R
+ " N i o FEHFE | EAE | HCAE | AR
%) o (%) %) o (%) (%)
DLW ] 0~ 4 70 55 38.5 50 35.0
fatet | o L[ 4~ 8 60 50 30.0 45 27.0
fio7- | 8~15 50 30 15.0 25 12.5
D50 | 0~10 50 80 40. 0 70 35.0
WEL | {7 | 10~30 40 80 32.0 70 28.0
Ko7z | 308k 1 30 70 21.0 60 18.0
D5V | 10~30 50 80 40. 0 70 35.0
gL | iz | 30~50 35 80 28.0 70 24.5
WEo7- | 50LL L 25 80 20. 0 70 17.5
Bor. No. 0 SEA i
R e
fHE P=e (1+e)X100 = %
FEAFE T A% o=
3. 1 ARYYEANE 1A4Y FTAE [N 3
T B [CEEINE| FRE | R o (%) Qs (L)
%) m3) | Wikl | Bk | WwWiEE | REE
1.3 70| 0.650 55 250
2.6 50[ 0,850 80 340
AN Y 1. 500 590
fEHT4 D — 1770
4. 1HHYEARE 1) YE{ifREH) T1= = 14. 00
2) HilLIFRH T2= X (y1XL10) = 17.15
3) TEARFR T3= Qs qs = 32.78
4) 45| R T4= y2X L2 = 4.12
SIPHEAERERR v 2= 2.0 43/m
1 A 0 fi TRER Ts= 68.05 43/
. HIFLO HALERERR (O /m) . HATRERY 0 AR (/57)
+ E | mEE k| mE A | OREEE T ik & HiR 5 [ #E4E )5 X
v 1 8.0 5.0 4.0 qs 18 16
5. 1 B0 ji TA% N= (60XxH) /Ts X 2 (yh) = 1.1 A/H
FAEHEREE H= 6.3  FF[H
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1. & & M69TF BRI TR
HIFLE | FAER | £#®E BB EH
v FHNE| LO L1 L2 = [ m &
(/&) | (m/&) (m) (m) (m) (m2)
13 0.10 0.10
2.6 3.40 1.40 1.50 2.00 3.00
E 3.50 1.50 2.00] EARBU(RX) 3
2. 3 A E (EEARK)
]G 8 B R K %A ®
+ = N {& 0 FEHEE | GEAE | TTAE | FAE
(%) a (%) (%) o (%) (%)
P3| 0~4 70 55 385 50 35.0
L | b 4~ 8 60 50 30.0 45 27.0
fEor- | 8~15 50 30 15.0 25 12.5
p3Ly [ 0~10 50 80 40.0 70 35.0
BEL | P L | 10~30 40 80 32.0 70 28.0
fEor= | 3oLk 30 70 21.0 60 18.0
P3| 10~30 50 80 40.0 70 35.0
MEL | P L | 30~50 35 80 28.0 70 245
#Eor= | 508l E 25 80 20.0 70 17.5
Bor. No. 0 EHE
AL e
FEE P=e/(14+e)x100 = %
EAFRTAE a=
3. 1ARLYEARE 1TARLY FTAEK AR
THNE| BgE |HRLE a (%) Qs (L)
(%) (m3) | iR | BER | BiElE | BEE
13 70 0.100 55 39
2.6 50 1.400 80 560
= EED) 1.500 599
N [ERi=D) — 1797
4. 1HEYZAE 1) ZEfmEE Ti= = 14.00
2) HIFLEFR T2= Z(r1xL0) = 17.40
3) FE AR T3= Qs.“as = 33.28
4) 1% 5(3REFRT T4= y2xL2 = 4.00
SIIREAIERME r2= 20 43/m
TR YT R Ts= 68.68 /A&
_ . HIF. 0D B i 4 SREF R (5 /m) _ R BEESYFEASI/R)
+ B | et | gL | ML I % 4 HEAX [EHEAK
71 8.0 5.0 4.0 gs 18 16
5. 1HEHYET AR N= (BOXH) Ts X 2 (twh) = 110 &A/H
EEEBM H= 6.3 B:Rd
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fEor= | 3oLk 30 70 21.0 60 18.0
P3| 10~30 50 80 40.0 70 35.0
MEL | P L | 30~50 35 80 28.0 70 245
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Bor. No. 0 EHE
AL e
FEE P=e/(14+e)x100 = %
EAFRTAE a=
3. 1ARLYEARE 1TARLY FTAEK AR
THNE| BgE |HRLE a (%) Qs (L)
(%) (m3) | iR | BER | BiElE | BEE
13 70 0.100 55 39
2.6 50 1.400 80 560
= EED) 1.500 599
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3) FE AR T3= Qs.“as = 33.28
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v FHNE| LO L1 L2 = [ m &
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2. 3 A E (EEARK)
]G 8 B R K %A ®
+ = N {& 0 FEHEE | GEAE | TTAE | FAE
(%) a (%) (%) o (%) (%)
P3| 0~4 70 55 385 50 35.0
L | b 4~ 8 60 50 30.0 45 27.0
fEor- | 8~15 50 30 15.0 25 12.5
p3Ly [ 0~10 50 80 40.0 70 35.0
BEL | P L | 10~30 40 80 32.0 70 28.0
fEor= | 3oLk 30 70 21.0 60 18.0
P3| 10~30 50 80 40.0 70 35.0
MEL | P L | 30~50 35 80 28.0 70 245
#Eor= | 508l E 25 80 20.0 70 17.5
Bor. No. 0 EHE
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FEE P=e/(14+e)x100 = %
EAFRTAE a=
3. 1ARLYEARE 1TARLY FTAEK AR
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4. 1HEYZAE 1) ZEfmEE Ti= = 14.00
2) HIFLEFR T2= Z(r1xL0) = 17.65
3) FE AR T3= Qs.“as = 33.33
4) 1% 5(3REFRT T4= y2xL2 = 4.06
SIIREAIERME r2= 20 43/m
TR YT R Ts= 69.04 5/
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3. 1ARBYTAE

4. 1TBHYZIAE

5. 1AYYBITAK

ZEEAN—F I BEHEAK
(FAKEZESHYICELD,)
M69JEE SR ERA ) =34
HIFLE | FAER | £#®E BB EH
+ & |FHN{E| Lo L1 L2 = [ m &
(/&) | (m/&) (m) (m) (m) (m2)
0.10
2.6 507 150 1.67 1.67 2.79
E 517 1.50 3.67] EARB(RX) 3
2. 3 A E (EEARK)
]G 8 B R K %A ®
+ = N {& 0 FEHEE | GEAE | TTAE | FAE
(%) a (%) (%) o (%) (%)
P3| 0~4 70 55 385 50 35.0
L | b 4~ 8 60 50 30.0 45 27.0
fEor- | 8~15 50 30 15.0 25 12.5
p3Ly [ 0~10 50 80 40.0 70 35.0
BEL | P L | 10~30 40 80 32.0 70 28.0
fEor= | 3oLk 30 70 21.0 60 18.0
P3| 10~30 50 80 40.0 70 35.0
MEL | P L | 30~50 35 80 28.0 70 245
#Eor= | 508l E 25 80 20.0 70 17.5
Bor. No. 0 EiE
R e
FEE P=e/(14+e)x100 = %
EAFRTAE a=
1TARLY FTAEK AR
THNE| BgE |HRLE a (%) Qs (L)
(%) md) | ikl | BBl | BEk | BEl
2.6 50 1.395 80 558
= EED) 1.395 558
" [ERi=D) — 1674
1) ZEfmEE Ti= = 14.00
2) HIFLEFR T2= Z(r1xL0) = 25.75
3) FE AR T3= Qs.“as = 31.00
4) 1% 5(3REFRT T4= y2xL2 = 7.34
SIIREAIERME r2= 20 43/m
1R 2 Y i T RRS Ts= 78.09 4/ 7K
. BIFLO B EEERE(S/m) = BABEUYEASWS)
+ B | et | gL | ML I % 4 HEAX [EHEAK
71 8.0 5.0 4.0 gs 18 16
N= (60OXH) Ts X 2 (tyh) = 9.7 X/H
EEEBM H= 6.3 B:Rd
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£ i &
A< I T

I f& 4 b M13 M69 M70 & | B EE
B E | TE EE | E fhE
PERR SIS L T
T A7 7V b
Sl t=15cmPL F 8.4 8.8 8.4 25.6| m
BHO. 45m3
AZERUE L t=15cmPL F 4.4 4.8 4.4 13.6] m2
AsH 7 Jvsy t=5cm 0.2 0.2 0.2 0.6 m3
I IH T
RM-30
R T t=12cm 4.4 4.8 4.4 13.6| m2
RC-40
TERET t=10cm 4.4 4.8 4.4 13.6| m2
A T t=3cm 4.4 4.8 4.4 13.6| m2
AAEIHT
RIFAREA  (RM-30)
el t=12cm 10.8 11.2 22.0[ m
FAI7v4-7 (RC-40)
EEDUE L t=10cm 7.3 7.8 15.1| m2
AsH T JL5y t=3cm 0.1 0.2 0.3 m3
AsH 7 Jvsy t=3cm 0.1 0.1 0.2 m3
FRAERL I Ac
FE LT t=bcm 7.3 7.8 15. 1| m3




TX M 13 73 SFEFERT  ([{EREE) As=5-10-10 & O OfE i

g G N (AR Mg - FH H KX + —
WERR RS ARIUE L T
el TATZ 7k t=15emPA T | L=2.10X4 = 8. 40 8.4m
AL R L BHO. 45m3 t=15emPA F | A=2.10X2. 10 = 4. 41 4.4 m2
AsH Z W5y t=5cm V=2.10X2.10X0. 05 = 0. 22 0.2 m3
AR IR T
b AR T (RM-30) | t=12cm t=12cm A=2.10X2.10 = 4.41 4.4 m2
T A% T.(RC-40) | t=10cm t=10cm A=2.10X%2. 10 = 4. 41 4.4 m2
e T t=3cm t=3cm A=2.10X2.10 = 4. 41 4.4 m2
AEIRT
el Eli%EAs t=15emPA T | L=2. 70X 4 = 10. 80 10.8 m
AL R L BHO. 45m3 t=15emPA F | A=2.70X2. 70 = 7.29 7.3 m2
AsH T WLy BERR GhAE 5y t=5cm V=(7.29-4. 41) X0. 05 = 0. 14 0.1 m3
AsHT 7 Jusy {2 T t=3cm V=2.10X2.10X0. 03 = 0.13 0.1 m3
FET FRAHURIEET 2220 | t=5em A=2.70%2.70 7.29 7.3 m2




TX M69 sr¥i #SHFEFRT  (FhEEE) As=5-10-10 & O OfE i

g G N (AR Mg - FH H KX + —
WERR RS ARIUE L T
el TATZ 7k t=15emPA T | L=2.21X4 = 8. 84 8.8 m
AL R L BHO. 45m3 t=15emPA F | A=2.21X2. 16 = 4.77 4.8 m2
AsH Z W5y t=5cm V=2.21X2.16X0. 05 = 0.24 0.2 m3
AR IR T
b AR T (RM-30) | t=12cm t=12cm A=2.21X2.16 = 4,77 4.8 m2
T A% T.(RC-40) | t=10cm t=10cm A=2.21X2.16 = 4.77 4.8 m2
e T t=3cm t=3cm A=2.21X2.16 = 4.77 4.8 m2
AEIRT
el Eli%EAs t=15emPA T | L=2.81X4 = 11. 24 11.2m
AL R L BHO. 45m3 t=15emPA F | A=2.81X2.76 = 7.76 7.8 m2
AsH T WLy BERR GhAE 5y t=5cm V=(7.76-4.77) X0. 05 = 0.15 0.2 m3
AsHT 7 Jusy {2 T t=3cm V=2.21X2.16X0.03 = 0.14 0.1 m3
FET FRAHURIEET 2220 | t=5em A=2.81X%X2.76 7.76 7.8 m2




TX M70 73 SFEERT  ({EREE) As=5-10-10 & O OfE i

4 g A VAR fits - qoH L % + —
BERR SiZEhRIBE L
GiE3alh TAT 7 t=15ecmPL T | L=2. 10X 4 = 8. 40 8.4m
EHLEIUE L BHO. 45m3 t=15cmPA T | A=2.10X2. 10 = 4.41 4.4 m2
AsH 85y t=5cm V=2.10X2.10X0. 05 = 0.22 0.2 m3
AR 1A T
b J A T (RM-30) t=12cm t=12cm A=2.10%2.10 = 4. 41 4.4 m2
TJE A% T (RC-40) | t=10cm t=10cm A=2.10X2.10 = 4. 41 4.4 m2

R Ef%E T t=3cm t=3cm A=2.10X2.10 = 4.41 4.4 m2
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